Advanced Data Structures

Multiple Choice Questions and Answers :-

1. Which if the following is/are the levels of implementation of data
structure

A) Abstract level «
B)Application level %'
C) Implementation level c_>

D) All of the above

Ans.D Q .

®

2. A binary search tree wfsei%btree and right subtree differ in

hight by at most 1 unit is called/.....
Y

A) AVL tree Q\

B) Red-black tr

Q) Lemr%

Ans.

D) None of the above

K J level is where the model becomes compatible executable



code
A) Abstract level

B) Application level
C) Implementation level &
D) All of the above
Ans.C c
4. Stack is also called as Q)L
Y

A) Last in first out

<z ®
B) First in last out \
C) Last in last out < .
D) First in first out

Q\ o

Ans.A

5. Wh gge following is true about the characteristics of abstract
da St

i)lt exports a type.
ii It exports a set of operations

A) True, False



B) False, True
C)True, True

D) False, False

Ans.C &
A\

6. e is not the component of data structur %"

A) Operations

B) Storage Structures L‘

C) Algorithms Q)’

D) None of above \Q :
<3

Ans.D

®

7. Which of the¥ollowifig is not the part of ADT description?
A) Data

B) Op b

C)B f the above

D) None of the above

Ans.D



8. Inserting an item into the stack when stack is not full is called .............
Operation and deletion of item form the stack, when stack is not empty
is called ...........operation.

A) push, pop «
B) pop, push

Cinsert, delete %'
D) delete, insert C_)

°
Ans.A < °

<zc °
. ISR Is a pile in which i%re‘ ded at one end and removed
from the other.
°
A) Stac %
\
B) QueueC) List Q

D) None of the ve

NS

10. ............ is very useful in situation when data have to stored and then
retrieved in reverse order.

A) Stack



B) Queue
C) List

D) Link list

¢\

®

Ans.A

inserting at rear?

11. Which data structure allows deleting data elert;%ﬁ

A) Stacks

B) Queues Q)’
C) Dequeues \Q ®

D) Binary search tree
3
Ans.B Q\ ®

12. Whic owing data structure can’t store the non-
hom ta elements?

A S

B) Records

C) Pointers

D) Stacks



Ans.A

13. A ....... is a data structure that organizes data similar to a line in the
supermarket, where the first one in line is the first one out.

A) Queue linked list &
B) Stacks linked list \Q

C) Both of them

D) Neither of them L )

Ans.A Q)'
‘ ‘
14. Which of the following is n&el‘data structure?

A) Stacks ¢
B) List \ °

C) Strings Q

D) Treesb

An

15. Herder node is used as sentinel in .....

A) Graphs



B) Stacks
C) Binary tree

D) Queues

Ans.C

hold nodes?

A) Stack L‘
B) queue Q)'

C) Tree \Q ®

D) Array
3
Ans.B Q\ ®

16. Which data structure is used in breadth first sth)%hph to

17. Identi structure which allows deletions at both ends of
the list Bu tion at only one end.
A tricted dequeue

B) Output restricted gequeue
C) Priority queues

D) Stack



Ans.A

18. Which of the following data structure is non linear type?
A) Strings

B) Lists
C) Stacks
D) Graph c %'
Q/‘
Ans.D

Q/’
19. Which of the following dat@ is‘linear type?

®
A) Graph
Y

B) Trees

Y
C) Binary tree Q\
D) Stack
Ans. b

20. To represent hierarchical relationship between elements, Which
data structure is suitable?

A) Dequeue



B) Priority
C) Tree

D) Graph

\’
21. A directed graphiis ................... if there is a pattro%ﬁ/ertex to

Ans.C

every other vertex in the digraph.

A) Weakly connected L‘
B) Strongly Connected QJ‘

C) Tightly Connected \Q Y

D) Linearly Connected
3
Ans.B Q\ °

22.In the,. W\
befor \%

B) Breddth First

C) With First

D) Depth Limited



Ans.A

23. State True of False.

i) Network is a graph that has weights or costs associated with it
ii) An undirected graph which contains no cycles is called a Rﬁf&
ne

iii) A graph is said to be complete if there is no edge betwe ?y pair
of vertices. %‘

A) True, False, True c‘)
B) True, True, False QJ

C) True, True, True Q}Q

D) False, True, True @ *

Y

Ans.B b
\

24. Match the ®

a) Compjete ow long does it take to find a solution
b) Ti exity ii) How much memory need to perform the search.
c)S omplexity iii) Is the strategy guaranteed to find the solution

when there in one.
A) a-iii, b-ii, c-i

B) a-i, b-ii, c-iii



C) a-iii, b-i, c-ii

D) a-i, b-iii, c-ii

Ans.C

25. The number of comparisons done by sequential seﬁch AQ

A) (N/2)+1
B) (N+1)/2 )
C) (N-1)/2 Q)L
°®
D) (N+2)/2
Ans.B
3

26. 1N .ceeeeeenr, S rt%t the beginning of the list and check every
element in theylist.

A) Linear
B) Bi @h
Q) earch

D) Binary Tree search

Ans.A



27. State True or False.
i) Binary search is used for searching in a sorted array.
ii) The time complexity of binary search is O(logn).

A) True, False

B) False, True %'
C) False, False c
D) True, True <

Ans.D Q
‘
®
28. Which of the followingg n$internal sort?
A) Insertion Sort B

Y
B) Bubble Sort Q\ *
C) Merge Sort
D) Hea;%

Ans.

29. State True or False.

i) An undirected graph which contains no cycles is called forest.



ii) A graph is said to be complete if there is an edge between every pair
of vertices.

A) True, True

B) False, True

C) False, False «
D) True, False q \’

Ans.A
Q/‘

30. A graph is said to be .................. if the Yertige$ can be split into two
sets V1 and V2 such there are no e between two vertices of V1 or

two vertices of V2. \ .
A) Partite % .
B) Bipartite
) Bip \ .
C) Rooted Q

D) Bisects

31. In a queue, the initial values of front pointer f rare pointer r should
be ......and ........... respectively.

A)Oand 1



B)Oand -1
C)-1and O

D)1and 0

Ans.B «

32. In a circular queue the value of r will be ..

A) r=r+1 c—)

B) r=(r+1)% [QUEUE_SIZE — 1]

C) r=(r+1)% QUEUE_SIZE QJ'

D) r=(r-1)% QUEUE_SIZE \Q :
<3

Ans.C

33. Which of thgfollowing statement is true?

i) Using d lists and circular list, it is not possible to traverse
the li rds.

e predecessor, it is required to traverse the list from the first
case of singly linked list.

A) i-only

B) ii-only



C) Bothiandii

D) None of both

Ans.C

34. The advantage of ................. is that they solve the pable%\’

sequential storage representation. But disadvantage in is.they are

sequential lists. (
A) Lists <

Y
B) Linked Lists < °
C) Trees Q °

D) Queues
QM

35. What will b value of top, if there is a size of stack STACK_SIZE is

O

Ans.B

D) None



Ans.C

36. ............ is not the operation that can be performed on queue.
A) Insertion

B) Deletion
C) Retrieval
D) Traversal %'

Ans.D
®
37. There is an extra element at the th o’f the list called a...........
®
°®

A) Antinel

B) Sentinel b
°

C) List header Q\

D) List hea

Ans.B b

38. A graph is a collection of nodes, called .......... And line segments
called arcs or ........... that connect pair of nodes.

A) vertices, edges



B) edges, vertices
C) vertices, paths

D) graph node, edges

Ans.A &

\‘
39.A.......... is a graph that has weights of costs associat h its
edges. C)

A) Network L
B) Weighted graph Q)'

C) Both Aand B \Q ®

D) None A and B
3
Ans.C Q\ ®

40. In ge inary search method needs no more than ................
comp. r%

Ci
°®

B) [logh]+1
C) [log2n]

D) [log2n]+1



Ans.D

41. Which of the following is not the type of queue?
A) Ordinary queue

B) Single ended queue
C) Circular queue %'
D) Priority queue

Ans.B
Y
. . <z ®
42. The property of binary treelke

®
A) The first subset is calledgdeft subtgee
Y
B) The second subtree i |s C ght subtree
C) The root cann NULL
D) The rlgh su e can be empty
43. State true or false.

i) The degree of root node is always zero.

ii) Nodes that are not root and not leaf are called as internal nodes.



A) True, True
B) True, False

C) False, True

D) False, False &
Ans.C %'\s
44. Any node is the path from the root to the@s c>|ed
Y
A) Successor node Q
Y

B) Ancestor node

<z ®
C) Internal node \

D) None of the above < .
Y
Ans.B Q\

45. Stat(ru Ise.
i)An arent if it has successor nodes.

i) A is child node if out degree is one.
A) True, True
B) True, False

C) False, True



D) False, False

Ans.B

46. ......c.......... IS NOt an operation performed on linear list &

a) Insertion b) Deletion c) Retrieval d) Traversal \O

A) only a,b and ¢ %"
B)onlyaandb )
Q/‘
C) All of the above Q
Y
D) None of the above Q
‘

Y

Ans.D \

47. Which is/are ication(s) of stack

A) Function ca
B) Larg‘um rithmetic
f arithmetic expressions

D) A he above

Ans.D



48. A ............... is an acyclic digraph, which has only one node with
indegree 0, and other nodes have in-degree 1.

A) Directed tree

B) Undirected tree

C) Dis-joint tree «

D) Direction oriented tree q
Ans.A Q >

49. .....cc.ceeeeee.... Is @ directed tree in whiwgree of each node is

less than or equal to two. °

A) Unary tree \ ®
B) Binary tree %

Y
C) Trinary tree \ Y
D) Both B and Q
Ans. b

50. State true or false.
i) An empty tree is also a binary tree.

ii) In strictly binary tree, the out-degree of every node is either o or 2.



A) True, False
B) False, True

C) True, True

D) False, False &
Ans.C %'

51. Which of the following data structures aregindexed )tructures?
Y
A. Linear arrays Q
B. Linked lists
‘
C. Queue \

D. Stack <
®
Y
Ans.A Q\

52. Whigo llowing data structure store the homogeneous data
elem@qt

A.
B. Records
C. Pointers

D. Lists



Ans.B

53. When new data are to be inserted into a data structure, but there is

not available space; this situation is usually called .... &
A. Underflow

B. overflow %,
C. houseful c—)

D. saturated

Ans B \Q .

54. A data structure wher@e‘lts can be added or removed at either
end but not in the mid

A. linked lists Q

B. stacks

C.qu u%

DX
Ans.D

55. Operations on a data structure may be .....



A. creation
B. destruction

C. selection

D. all of the above &

Ans.D %'\s
56. The way in which the data item or items a@calb related defines

ses e ‘
A. storage structure Q)'
B. data structure \Q

C. data relationship
Y
D. data operation b
\
Ans.B Q

57. '%we following are the operations applicable an primitive
d ures?

A. create
B. destroy

C. update



D. all of the above
Ans.D

58. The use of pointers to refer elements of a data structure inN
elements are logically adjacent is .... \‘

A. pointers %,
B. linked allocation c—)

C. stack *

D. queue QJ‘
‘ ‘
Ans.B \ Y

59. Arrays are best datajstructures

A. for relativelyper nt collections of data

B. for the.si he structure and the data in the structure are
const n% ing

C! of above situation

D. for non of above situation

Ans.D



60. Which of the following statement is false?
A. Arrays are dense lists and static data structure.

B. Data elements in linked list need not be stored in adjacent space in
memory

C. Pointers store the next data element of a list. «
D. Linked lists are collection of the nodes that contain @ﬁpart

and next pointer.

(S

®

61. Which of the following data strAQe is,non-linear type?

A) Strings ®

B) Lists % ®
C) Stacks \ °

D) Tree Q

Ans. b

62. Which of the following data structure is linear type?
A) Array

B) Tree



C) Graphs

D) Hierarchy

Ans.A

63. The logical or mathematical model of a particular oian%nof

dataiscalleda .........

A) Data structure c-)

B) Data arrangement ®

C) Data configuration Q)'
D) Data formation \Q ®

Ans.A b ¢
\
t&data structure is .....ccoeeeuuee.

64. The simpl

A) Multi array
B) Li
Q) imensional array

D) Three dimensional array

Ans.B



65. Linear arrays are also called ...................
A) Straight line array

B) One-dimensional array
C) Vertical array

D) Horizontal array \‘
Ans.B Q >

66. Arrays are best data structures QJ
A) For relatively permanent c Kgof d‘ata

B) For the size of the struc
constantly changing

C) For both of ab ittation

e data in the structure are

D) For none ofithe a

Ans. b

67. Which of the following data structures are indexed structures?
A) Linear arrays

B) Linked lists



C) Graphs

D) Trees

Ans.A

68. Each node in a linked list has two pairs of .............. and \Q

A) Link field and information field %"

B) Link field and avail field L )

Y

C) Avail field and information field Q
Y

D) Address field and link field Q

®
®
Ans.A \
3
69. A ..o ®o? keep track of address of every element in

the list.

A) Stack

B) St

Q) array

D) Queue

Ans.C



70. When does top value of the stack changes?
A) Before deletion

B) While checking underflow

D) After deletion %'\s

Ans.D
Q/‘
71. Which of the following data struEure%v’linear type?

A) Strings *
Y
B) Lists \
Y
C) Stacks
Y
D) Tree Q\

Ans.D b

72. of the following data structure is linear type?

C) At the time of deletion

A) Array
B) Tree

C) Graphs



D) Hierarchy
Ans.A

73. The logical or mathematical model of a particular organiza@
datais called a .........

A) Data structure %,
B) Data arrangement c-)

C) Data configuration ®

D) Data formation Q)'
‘
Ans.A \ .

<3
74. The simplest ty o%ata structure is .....ccoeeeuuee.
y

A) Multidimengiona

B) Linear
T %ional array

D) imensional array

®

Ans.B



75. Linear arrays are also called ...................
A) Straight line array

B) One-dimensional array
C) Vertical array «
D) Horizontal array

Ans.B c

Y
76. Arrays are best data structures ..........
< | Y
A) For relatively permanent collecti of .

<z ®
B) For the size of the structure_and the%data in the structure are

constantly changing N
Y
C) For both of above situagb
D) For none of th *
Ans.A b
77. h of the following data structures are indexed structures?

A) Linear arrays
B) Linked lists

C) Graphs



D) Trees

Ans.A

78. Each node in a linked list has two pairs of .............. and ...... &

A) Link field and information field
B) Link field and avail field
C) Avail field and information field c-)
D) Address field and link field Q
Y
Ans.A \Q *
Y

79. A does %p‘track of address of every element in
the list.

\ .
A) Stack Q
B) Strin
C) Li t@

D)

Ans.C



80. When does top value of the stack changes?

A) Before deletion
B) While checking underflow

C) At the time of deletion

D) After deletion %'
Ans.D Q ’

91. Arrays are best data structures : QJ‘
‘
A) for relatively permanent co*n?of data

B) for the size of the struc d the data in the structure are

constantly changin
C) for both of %atlon

D) for n situation

92. Which of the following data structure is not linear data structure?

A) Arrays



B) Linked lists
C) Both of the above

D) None of the above

Q
93. The disadvantage in using a circular linked list it

A) It is possible to get into infinite loop.

B) Last node points to first node. QJ‘

C) Time consuming Q *
N\

®
D) Requires more memoryspac
C’) ’
Ans.A Q\ ¢
94. A lingar hsti ich each node has pointers to point to the
pred e%v successors nodes is called as ..

A) Singly Linked List

®

B) Circular Linked List

C) Doubly Linked List



D) Linear Linked List

Ans.C
95. A ....cceeeeeo...... is @ linear list in which insertions and deletio@
made to from either end of the structure. \’

B) random of queue

C) priority < | Y
D) dequeue \Q ®

Ans.D b Y
X'
96. In a priorit q rtion and deletion takes place at ..................

A) circular queue c_)

A) front, r
C ront end

D) any position

Ans.D



97. The time complexity of quick sort is ..............
A) O(n)

B) O(n2)

C) O(n log n)

D) O

Ans.C



